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1
Introduction 
This is a brief summary of differences between the RANAP based and RNSAP based HNB mobility solutions proposed in RAN3 for approval in Release 10.

Firstly both these solutions are technically feasible and will support the objective of supporting HNB-HNB mobility without impacting the CN.  However there are differences in the flexibility and future enhancements aspects of these two solutions. These are summarized in Table below.

	Feature
	A RANAP Solution
	B RNSAP Solution

	CN not involved in HO
	YES
	YES

	A direct interface between HNBs 
	NO
	YES

	Fast, efficient handover in enterprise environments
	NO – all signalling via GW, no benefit in enterprise
	YES

	Support of soft handover
	NO
	YES

	Uses well-established procedures.
	YES from RANAP
	YES – from enhanced SRNS relocation

	Seamless support for similar operation (including soft handover) via the HNB-GW where direct interface is not appropriate.
	NO as direct interface not supported.
	YES

	Future enhancement possible with Iur connection from HNB-GW to macro RNCs, hence macro-femto soft handover.
	NO
	YES

	Easy introduction of LIPA mobility and Cell_FACH over Iur in Rel-11
	NO - call flows already seen for Cell_Fach in the rel-10 study in RAN3 shows more complexity and messages 
	YES – soft handover support will facilitate LIPA mobility introduction

	Alignment with LTE where handover between two HeNBs will be only via direct interface in release 10
	NO
	YES

	Changes to HNB
	NO
	YES

	Changes to HNB-GW
	YES – New U-plane, C-plane & TNL handling functions
	YES – New C-plane & TNL handling functions

	Processing efficiency
	NO – much more messages and IEs to process (x5) – CS and PS relocations to be run in parallel 
	YES – combined CS +PS relocations and few messages to process

	Scalable with numbers of UEs and HNBs
	NO – C-plane: need to store in HNB GW all RAB context for all UEs – U-plane: need to terminate in HNB-GW and map all Iu UP of all bearers for all UEs
	YES


2 Conclusion
Both solutions RANAP based and RNSAP based support HNB-HNB mobility not impacting the CN. However, the RNSAP solution provides significant additional features including soft HO and future enhancements potential as well as performance improvements. We therefore propose the selection of  RNSAP (Question  B) as the only solution for Rel-10. 
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